%= (3 \X e et
1\ (—1) j) Ml(, 1))

2\ w=Ty == TATy +7 %J*‘
DY >t 1_&' )1-
Yo = Yo t (Tﬂ(i')”]z
3 7= (5 ) a B )
\ @,Wr\ q‘lcﬁm

T l—’«\ =L (A (S G






01 —2 O ' 1)6(_
T --z\mre*
=
"
Y= & + (e
3t t
=y =g ( € G )=ty
> /)
\j?_:é')‘ (= C:”S}C’Z:@




7Y Vg = o éﬁ W (2 € (ﬂ + ()0l

- \

Y- Lk\\x*'(i)

& !
| ¢
g\ b Yot %
‘ ' 5%
\)‘b =~ Tz
7t
= 7 ~-L
Lf\ 7/ - 6//2 , OO = >



C?i«/\j dY

d TP I A “sin(x)

LWTJMH-'[MUH Cj\j; ) = Aj

y=0 _
>\§/ —§3° ~uEsin(x) ~O = (s,sm(zx) =0

Cyiligh_ phr ave ([-)7 O> (e

vvvvv

\% 2o Cf‘\}ffCV( POIV\+ Pic 3 Aymas

@)\c C_.Q\‘\“SLQOWM)V ¢A %[O\CBL
LJC\» e — e




5\ & 3W5W__K_WZSM><
dza J el

= gt = wiost) +C

3(3\\3 +Qf U+uf5l\47<)c§?< =
Mj l\/)(. b’ -0

N =Y M(;B*WS“”‘ )
I _

=2 b= =%
dX =29 ,%

"k
I
A (&
/’ Y st oot
LTS RY
N




=~ 0 /d—i:O ':’> 710 <?<_4st

ax
¢ dr X =0 (y-ant)
w | N L} *>0 40
2,  =tyro,-§x20
/
Sxykqﬂffb Z% >0, Y <O
D40, < O = 0 X270

4\ ¥'<0 , Y'«o
=yNc0, %> O

= kcrm) ﬁi Y79 )

we OJM\CW Lupch ¥ = (;Q )

bydlagh eremd i

?()(/\ﬁ) = F(,?W/\M v ’J? 0(017 i VBS 0

v




| (AN AN VLTV 07 - - _
I ™h

W pan

be, %ﬂ (bxﬁ 5%)

$= Lol oy Fv) 0%y 0yt
v(x";\h):O ‘DIC, Q@\l)b\ S OC,{HIZ(%{,WM{

biC ?U‘O/ = C\jl \(N,‘io] = (,?)}

Lo (,(%3 we_ e
9 [ % X
\ -Pay) = by bﬁ%m,ﬂmy) Sk

—_—
Contiey Cod»?/am* Mo Fvix

> AL - A ED

Even 2k N

Stable

vdd €T o <

ﬁ £ Ukl



dx )
&;j 5 = (—(\/ - uﬁlm) —- Jr(?</t7)
dt

1) il C"”/“‘”‘“ (LM, 0) ke Z (F(tD,O]‘{Q))

Z\ “J)Of C?‘Qfmc\ Q‘(Mcl q‘”DH'fan oY1 heal P-L

(her Yo
O ;(~7K‘b>
it M T dettes) Gy g(lbﬁob

,)

7‘70\

(7\ Fory) = Teenp) (™ m) Gt

[ dyFy 0x(4)  dy(y)
iAoy (bj\‘% “738 ] (bw’“}mn) :
(%, Y,) 4

cosen) = L (o> (@eti)n) = -1
o v (@*:O \)ds\Jrrm\

|

\



@mi,“ ()= URE JZZX)

— V0 g fFuw t
K =6 " i& N el i]

Aﬂ LAt L0 A [Fuwt >0
Jo (T <y e= = v/

So HM Ve fravions Shobole

S, naw Wi S?M Caxs 6\/“(‘(’“1\»-51:_‘)“\0(‘ ye— T

o ("W O,

vz &t (eﬁ“ i chgl 1—@,‘%’\{;)

A




X<T e v
(| T > J

,_b (0\‘ Cold{‘—w‘ £)V) + Sy (W%\u}
C [>0 WL N SQ'\WA@SM(L ~

WMlﬂlb”:®7
odd €N
(G 5) -
T W -}(\ A= %“z e




-
(o £t So Qb i oF

e TV




